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Another Computational Method of Solving a Linear

System

Determine the solution, if it exists, for each system of linear equations. Verify your solution on the coordinate plane.

1 {y=3x—5
Cly=-3x+7

{y=—4x+6
2x—y =11
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Determine the solution, if it exists, for each system of linear equations. Verify your solution on the coordinate plane.

1 {%x+5:y

2x+y=1
5 {9x+2y=9
T (=3x+y=2

3 {y=2x—2
Ry =4x -4
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8x +5y =19

4 —8x+y=-1
5 x+3=y
C Bxt+4y=7
6 y=3x+2
T 4y =12 +12x
7 4x — 3y =16
To(2x 44y = -2
8 2x+2y =14
" (12 —-3x =3y
9 y=—-2x+6
© By=x-3
y=5x—-1
10. 10x =2y + 2
1. 3x =5y =17
6x +5y =10

4
12. {y_§x_9

y=x+3
4x —7y =11
13. {x +2y=10
14 {21x+14y=7
“l12x +8y =16
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1 {y=3x—5
' y=-3x+7

3x—-5=-3x+7
6x =12

x=2

y=3(2)-5
y=6-5
y=1

The solution is (2, 1).

{y=—4-x+6
2x—-y=11

2x—(—4x+6)=11
2x+4x—-6 =11

6x =17
17
=6
17
y=—4(g)+6
34
y=—?+6
16
Yy=73

The solution is (%7, — %)

y=-3x+7

y=3x-5

Determine the solution, if it exists, for each system of linear equations. Verify your solution on the coordinate plane.

y=-4x + 6
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Determine the solution, if it exists, for each system of linear equations. Verify your solution on the coordinate plane.

1 {%x+5=y

2x+y=1
1
2x+5x+ 5=1
5
Ex+ 5=1
5
Zx= -4
8
*=-3
8 0
2<_§)+y= 55 4 3 2 1 0 1 2 3 4
16 B 1
_?_g_y_
21 ]
y=75 2x+y=1
Lo 8 21 3
The solution is (_E'?)'

{9x+2y=9
—-3x+y=2
3(-3x+y=2)
-9x+3y=6 \
{9x+2y=9 SHYS [ry=z
—-9x+3y=6 4
9x+2y—9x+3y =15 ,
5y =15
y=3 y
N
—-3x+3=2
—3x=-1 ; ; 0 )
-2 -1 0 2 3 4
1
x=§ L
oo (1
The solution is (5, 3). 21
-3
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3 {y=2x—2
: 2y =4x — 4

These equations define the same line. Therefore,
this system will have infinitely many solutions. y=2x-2

2y=4x-4

a {8x+5y=19
’ —-8x+y=-1
8x+5y—-8x+y=19-1 7
5y+y=18
64
6y=18 8x + 5y =19
-8x +y=-1
y=3
8x+5(3)=19
8x+ 15 =19
3
8x=4%
1
x== 27
2

The solution is (%, 3).
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{x+3=y
3x+4y=7
3x+4(x+3)=7
3x+4x+12=7
Tx+12 =7
7x =

xX=—z

3x +4y =7

y=x+3

6 {y=3x+2
: 4y =12 + 12x

The equations graph as distinct lines. The slopes of these two equations are the same, and the y-intercepts are
different, which means they graph as parallel lines. Therefore, this system will have no solutions.

-1

4y=12+12x

y=3x+2
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7 {4-x—3y=16
—2x+4y=-2

2(—2x+4y =-2)

—4x +8y=—4
{4-x—3y=16 >
—4x + 8y = —4 4x - 3y = 16

4x—3y—4x+8y=16 -4

-3y +8y=12 “2x+dy=-2
5y =12
2
12
y= 5

4 3(12)—16
X 5)=

36
4-x—?=16
116
4-x=T
29
*=%5

e solations (2. 2)
e solution Is 5'5 )

3 {Zx+2y=4-
: 12 -3x =3y

The equations graph as distinct lines. The slopes of these two equations are the same, and the y-intercepts are
different, which means they graph as parallel lines. Therefore, this system will have no solutions.

12-3x=3y

2x+2y=4
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9. {y=—2x+6

3y=x-3
3(y=—-2x+6) 5]
3y=—-6x+18 y=-2x+6
{3y=—6x+18 41
3y=x-3
—6x+18=x—-3 3
18=7x-3
2
21="7x -X +3y=-3
21 14
2o x
7
x=3 ,
6 7
y=-23)+6
y=-6+6
y=0
The solution is (3, 0).

y=5x—-1
10. {10x= 2y+2

These equations define the same line. Therefore, this system will have infinitely many solutions.

y=5x-1

3 10x=2y+2

This work is licensed under a

© 2014 Common Core, Inc. Some rights reserved. commoncore.org (cc BY-NC-SA Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.




1 {3x—5y=17
* lex+5y =10

3x-5y+6x+5y=17+10

9x =27 3x -5y =17
x=3
1
3(3) -5y =17 0
9-5y=17 K 0 1 2 3 2 5 6 7 3
—5y=8 1
8
y=-3 Ll

)

The solution is (3, —

4
12 {3’:5"_9
y=x+3
4 9 3 40]
3x— =x+
1
§x_9: 35
1
—x=12
3 304
x =36
254
y=36+3
y=39 204

The solution is (36,39).

6x + 5y = 10

y=(4/3)x-9
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13 {4x—7y= 11

x+2y=10
—4(x + 2y = 10)
—4x — 8y = —40 ™
4x -7y —4x -8y =11-40
—-15y = =29
29 3
Y15
2
+2 (29) =10 !
*re\1s) 7
X +§ = 10 . 0 1 2 3 4 5 6 7 8 9 10 11 12 13
15
92 -
x:E 4x -7y =11 xizyod
The solution is (%,%)

14 {21x+ 14y =7
* (12x+8y =16

The slopes of these two equations are the same, and the y-intercepts are different, which means they graph as
parallel lines. Therefore, this system will have no solution.

2lx 4+ 14y =7 2z + 8y =16
1
0
-3 -2 -1 0 1 2 3 4
-1
24
34
4]
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